SN FESEYBA
Ho: OXE 2 7 (LHITHT/LLHY)
Sl ZEI|s (&8

o

o

6,034,576
= 869,272
& 5,165,304
OXNE 28 RS (LIS /ALF) 5,964,284 6,542,613 A578,329
= 869,272
S 5,095,012
F2J€ 570,931 728,821 £157,890
CHISARI10l B 200,000 200,000 0
405 AH&HHSHI 200,000 200,000 0
01 AL ESHSHI 200,000 200,000 0
o=H 160,000
OZgH 18,000
ozud 22,000
BHEANRE 2ZERON ES 150,000 150,000 0
201 B2 150,000 150,000 0
01 AtR 22l 150,000 150,000 0
QHUIANRE A2ZEN 7(3B) 150,000
SR F2ssE" L 6,000 6,000 0
201 £ er2H| 2,000 2,000 0
01 ARl 2,000 2,000 0
OZRYELS A2 e 400
OZAUE NEEM &1 =% 1,600
303 L&tz 4,000 4,000 0
01 Z&=2 4,000 4,000 0
OB sH ZAUI A3 4,000
SIEXNGFENLH 2SN 114,686 113,096 1,590
201 ¢EH2 S| 114,686 113,096 1,590
02 3324l 114,686 113,096 1,590
OS=XNFHENEE N FII=2ES 114,686
FZSANEAHEFE L I LERIRE 15,245 19,725 24,480
201 ¢et2 | 2,000 2,000 0
01 AR 22l 2,000 2,000 0
OZA-ZHESFFI AN & 2,000
OXNSEES SN A& FA 1,000
OXNSELS=NRAYE2Y 1,000
202 O Hl 13,245 17,725 24,480
01 =W ol 13,245 17,725 A4,480
OzEIE geFy 13,245
ZRAE0 HEES o ALY 10,000 10,000 : 0
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SN ZEsggRa
By OXE 2 T (LUITYT/LBHF)
el Yol (Erol: @)

307 QI2H0I & 10,000 10,000 0
04 QRIS AR = 10,000 10,000 0
OAME HE23 HA N 10,000
DRIE EUEY AAY RS 75,000 0 75,000
201 YEr2 | 75,000 0 75,000
T 75,000 0 75,000
OEHEZ S/W 75,000
MEFHPST 984,979 922,070 62,909
= 414,062
< 570,917
COUNBHDE X 30,000 30,000 0
308 XIS SOl & 30,000 30,000 0
01 IXESHBARES 30,000 30,000 0
OZUFESHNS 2Y NN 30,000
Y2302 =Y T4 70,000 70,000 0
207 1 RIp Lyl 70,000 70,000 0
02 & A2 H| 70,000 70,000 0
OF=Z30IE IRBEHE 35 70,000
¥Es0ie ZRIBRIN S4(2D) 273,541 259,512 14,029
= 195,360
= 78,181
308 XHXI XIS 01 & 273,541 259,512 14,029
= 195,360
= 78,181
01 RSB A EEZ 273,541 259,512 14,029
OFEBE0E T2IUBRIK B4 273,541
= 195,360
= 78,181
Y2302 YB3 £ 174,034 134,562 39,472
201 Lpr2 eyl 50,000 68,000 18,000
01 AR 22l 30,000 34,000 £4,000
OXNSHE L sEHERZER 30,000
03 #AI2 B 20,000 34,000 214,000
OXZHHOISNETNE L SSHE A 20,000
202 048l 16,034 18,562 £2,528
01 2UHoII 16,034 18,562 ~2,528
OMENY 22 ZX 16,034
307 QI2t0I & 10,000 0 10,000
04 QIZFBALR 10,000 0 10,000
OFSI0S IHNFE L HIZEHBA 10,000
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SN ZEsEYTA
Fu: CNE YR PE(LNBIUT /L)
Sel: MEFREE EERED

308 X+XI EHHI S 01 & 98,000 48,000 50,000
01 HXSHAMEES 98,000 48,000 50,000
OF=s0IE SYEWO} lMEE 48,000
OFESNISY WHAHY X SEHXE 50,000
ArZtel 13 PC 22(21) 94,400 114,290 219,890
= 47,200
= 47,200
201 YLEtS HH| 93,800 113,290 £19,490
2 46,900
= 46,900
01 AL 22| 93,800 113,290 £19,490
oA 2| 93,800
OSSN T AMLY L TEL4E 2,064
2 1,032
= 1,032
OZIPCEE 8% ¥ 227 91,736
= 45,808
= 45,868
202 01 600 1,000 £400
2 300
= 300
01 2UHOtHI 600 1,000 £400
©AIZSl DPC Y2 =T 600
2 300
< 300
HESa 2XI10 XN¥(2D) 186,850 157,552 29,298
= 93,425
= 93,425
201 YErE | 1,820 3,554 £1,734
=2 910
= 910
01 AL 22| 1,420 3,254 £1,834
ONALY, BRENE, B2 1,420
= 710
= 710
03 #AH2 400 300 100
OEXIIIASE SHDS 400
2 200
= 200
202 04t 1,850 1,198 652
2 925
= 925
01 =LK 04t 1,850 1,198 652
O==JIJ HEHEY 1,850
2 925
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SN ZEsSYB
o CNE U D (LUSTUT /L)
Sl MEFBEX

=0
-
o

-

301 LBHBAS 183, 180 152,800 30,380
= 91,50
< 91,590

01 ABl B =R 2612 180,880 150,000 30,880
CEESIPIR=I! 180,880
= 90,440
[ 90,440

10 BAAHI 2 A3 500 900 2400
oxgy DS 500
= 250
= 250

12 J/EH2 42 1,800 1,900 2100
ousaed S| 1,800
= 900
= 900

FHoHE HESDK(2D) 156, 154 156, 154 0
= 78,077
= 78,077

201 Ler2g| 500 500 0
= 250
= 250

01 AR 22l 500 500 0
OFESNSIIB HFNASY 28 L 2| 500
= 250
< 250

202 OfHl 1,454 1,454 0
= 727
= 727

01 2o 1,454 1,454 0
OFBHDSIIY ME HH 1,454
= 727
= 727

307 2I2+0| ® 154,200 154,200 0
= 77,100
= 77,100

02 QIAHNBE 154,200 154,200 0
OFESNS I 154,200
= 77,100
= 77,100

BIFE I|HAS 1,479,643 1,052,034 227,609
= 455,210
= 1,024,433

N2R BHFBAAY SEY DAY 295,089 0 295,089
= 295,089

-226-




ok
X ZH
= I

el

ese g
CIXE 28 78(
#yE JlTS
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403 XtXISHHS K20/ A

295,089

(&2 E)

295,089

= 295,089
01 HXSHERE 295,089 0 295,089
OANZT BHFBAAY L EZH DI AL 295,089
=2 295,089
UHYBAAY S 271,284 271,284 0
403 XHXIEHHI S X201 & 271,284 271,284 0
02 ZIIZSOIHEHCH AL b 271,284 271,284 0
CASHE Mal=TAIAH (RS 63,284
CANEHY FBANAY SN2+ % SAX 203,000
UHIPALY 29 379,426 381,725 £2,299
201 YEHE Y] 364,000 364,000 0
01 AHRZ2IH| 2,000 2,000 0
OHZYBAAYRNEA HON B4 2,000
02 2B 362,000 362,000 0
OFBAAY SERAZS 362,000
202 Of 15,426 17,725 £2,299
01 ZLHOHHI 15,426 17,725 £2,299
OHIFRAAEY LRFX 15,426
ALY 29 62,500 18,000 44,500
201 YerS | 22,500 18,000 4,500
02 ZE 2| 22,500 18,000 4,500
OFEISBAAHY 2HAE RA22 22,500
ORYHFAFI 8,000
ogessAd 7,000
OstEAg | 3,500
OANAESE SO 4,000
405 XHoHH SHI 40,000 0 40,000
01 AL EEH S| 40,000 0 40,000
ostessIl 14 40,000
ANZT WH=RHA PSAY X&(2D) 471,344 187,572 283,772
2 160, 121
= 311,223
201 YEHE Y| 403,223 0 403,223
= 92,000
= 311,223
01 AR Z2IH| 403,223 0 403,223
ONEZHIANHDI L ANZHHZRAAHRE 403,223
2 92,000
< 311,223
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=Sk

: d2sgEay
CXg 28 28(
HIYFE J|ERF

ne

sz z2s X-l/°| S]13=1] X‘I)

28,872

m
H0
rio

403 It XISHHSXZ01& 68, 121 39,249
= 68, 121
01 AXIEMA=2E2x 68,121 28,872 39,249
OANZMHAH=SAHA 2FAL 68, 121
= 68, 121
FESA0I8 35 2,016,679 3,015,662 £998,983
sS4ld 2d2e = 190,843 192,862 22,019
201 B2 174,000 174,300 2300
01 At 22lHl 4,000 2,000 2,000
OZESASANYR & &3 =4 2,000
O7U FESH MNEZH RAE+ BoteE 2,000
02 33244l 170,000 172,300 22,300
OSUANE FXES 170,000
OFU 284 NEFH fRE2+ 4 160,000
OSA&ANE KXt 10,000
202 Ol 16,843 18,562 21,719
01 ZLHOibI 16,843 18,562 A1,719
OSHYT & FESHUSAY HRFA 16,843
sSies 2e =4 1,602,672 1,571,200 31,472
201 ¢Er2E| 1,602,672 1,571,200 31,472
02 3244 1,602,672 1,571,200 31,472
ostieaaeFA 1,602,672
OXSNEZ(MIHFHSHY,DID/D0DEE) 249,840
OArE A (38 A, B3, & E35| HDATAZ &) 325,440
O=-AZ ZJEESAY 3z 1,008,000
OFU rugE AIEZ 8,712
O - ZE8XE A3 AANLH = 10,680
HEAIE SEANAE 2= 80,000 0 80,000
405 TtatHSHI 80,000 0 80,000
01 AR ESHSH 80,000 0 80,000
OIPHS UWERZ aBAAX & 35,000
OUESRZ AZAcl L ANAIZANAE IF 45,000
SO0E ZUS OIS (BN) RF(SHAFXY) 31,000 70,800 £39,800
403 TtXISHHMSK=01H 31,000 70,800 £39,800
01 XM 22X 31,000 70,800 239,800
OZUA XY 2EXA 31,000
FESHSAMNY H2FA 6,164 10,800 24,636
308 XXM SOIE 6,164 10,800 24,636
05 X SHHM2RES 6,164 10,800 24,636
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I ONE 2V 7 (YHNBIYE/LuEE)
Sl FESAIIY 7S (=R

4l
I
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DIFRCIANAE NZEES 6, 164
Sda Wyl DX 36,000 0 36,000
405 RH&HE SHI 36,000 0 36,000
01 U S EH S| 36,000 0 36,000
OZBHLSMY W) B 36,000
BEHZE ANBNAY 7E 70,000 0 70,000
405 XHAHHE SHI 70,000 0 70,000
01 U S EH S| 70,000 0 70,000
CEELEL - WO EES-! 70,000
AEESI|E A5 426,026 0 426,026
OIHMSIM XSRS 426,026 0 426,026
201 Yer2 | 255,000 0 255,000
01 At 2teldl 55,000 0 55,000
OZEES usY ELES HRFN 5,000
OHHATE HOIS/M(USBE AL H) 50,000
02 3223l 200,000 0 200,000
OMOIHESZABRAIAY SNB4 200,000
202 o4 Hl 11,026 0 11,026
01 2LHOH| 11,026 0 11,026
OUTBHANHLY TE YREA 11,006
403 XX EHHI S XH2 01 & 40,000 0 40,000
02 BIIBSOITHEHCH AL bl 40,000 0 40,000
ZQ FRESMIIVAL HOAA 24 B} 40,000
405 THAHH SHI 120,000 0 120,000
01 AU S EH S| 120,000 0 120,000
OBEESAAE 5= DA 120,000
OIhAs AL S (VPN) 100,000
OAEEIXl 4.5T8 20,000
ITHBIA 23 486,026 624,006 138,000
ADGELHZY £ 24,026 24,026 0
201 EHR2 Y] 10,000 10,000 0
YEERIT 10,000 10,000 0
OADIEYRFH =X 10,000
202 G4 4l 11,026 11,026 0
01 =LH0dHI 11,026 11,026 0
OADIEYRFM P =7 11,026
301 LEHH A 3,000 3,000 0
10 EAIAHIB A3 3,000 3,000 0
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BEAN: X-iEil.CH:FB}AI
T [=] oo e
I OXE 28 IS (LeSTHEY/Letdy)

B ITAEI A =3 (&9 d)

3,000

A20IELREEMBIA S 25 462,000 600,000 A138,000

201 ZEt2 | 112,000 0 112,000

01 At 22l 50,000 0 50,000
OADIEZRANHIA XEE ESL03IE 50,000

02 33244l 62,000 0 62,000
OANIELJAMHIA AIAH 2E 2 X2 62,000

207 SNl 350,000 600,000 £250,000

02 ™ AHIHEHH] 350,000 600,000 A250,000
OANIELANHIA SHUFS 350,000

HE2HAL(ZEs 24 ) (JIEHIIE 70,292 76,788 26,49

JlE3ddl 70,292 76,788 26,496

2PA2Y J23H| 70,292 76,788 26,496

201 2E2 S| 54,200 55,946 A1,746

01 AtR 22/ HI 53,000 53,000 0
ORNE2Z MR22IHI 53,000

02 33244 1,200 2,946 A1,746
ORA2E S32gH 1,200

202 O Hl 14,592 14,592 0

01 =2HObI 14,592 14,592 0
ORAN2E = 14,592

405 XtatH SHI 1,500 6,250 24,750

01 AL ESHSHI 1,500 6,250 24,750
OTV=0H 1,500
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